

KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993

PROVOST P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278

WAINWRIGHT: 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Invoice To:

X0X 0X0 . AB

Branch					
CAMROSE		*REPF	*TNI		
Date	Time				Page
03/07/25	22:	20:05	(B)		01
Account No	Phone No	ı		Inv N	lo
Ship Via		Purchase	Order		•
Tax ID No					
			Sale	sperso	n
				137	

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

C016711 1668 1H0S790SVH0800045 S790 STS COMBINE 08/02/19

> S790 1218 2000

GST# 895703353

SEGMENT# 1 C 10 10-900-010 02/21/25 02/21/25

BRI INSPECTION 11.40 HRS

CORRECTION:

Do inspection as per BRI checklist - KS

-Make parts and labour estimate

ADDITIONAL DESCRIPTION:

Pre-inspection

- -Check, record and clear codes
- -Remove shields
- -Run and check operation

LABOR 1995.00

12.75 HRS

1995.00 16001000 SEGMENT TOTAL ==>

SEGMENT# 2 C 196 NA

02/26/25 02/26/25

SERVICE

- -CHANGE ENGINE OIL AND FILTER (1.5) -
- -REPLACE CAB AIR FILTERS AND CLEAN OUT CAVITY (1.0) KS
- -REPLACE ENGINE PRIMARY AIR FILTER (0.5) JB
- -CHANGE ENGINE FUEL FILTERS (1.0) JB
- -REPLACE AFTER TREATMENT DEBRIS FILTER AND CLEAN OUT

HOUSING (1.0) - KS

- -CHANGE REVERSER OIL (1.0) KS
- -CHANGE PRIMARY COUNTER SHAFT GEAR CASE OIL TO

SYNTHETIC GL-5 (1.0) - KS

- -REPLACE PRO DRIVE FILTER (0.5)
- -REPLACE HYDROSTATIC CHARGE PUMP FILTER (1.0) JB
- -CLEAN SEDIMENT BOWL (0.5)

CONTINUED ON PAGE 02

N: 4		
Signature:		



KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	

Invoice To:

. AB X0X 0X0

Branch					
CAMROSE					
Date	Time				Page
03/07/25	22:	20:05	(B)		02
Account No	Phone No	ı		Inv N	lo
Ship Via		Purchase	Order		•
Tax ID No					
			Sales	perso	n
				137	

SERVICE INVOICE

STK#/FLEET#		HRS	PIN/EIN	WARRAN	TY DATE I	HRS
C016711	S790 STS COMBINE	1668	1H0S790SVH08000	45 0	8/02/19	
	S790	1218			20	000
-TOP UP OV	ER SHOT BEATER GEAR	BOX OIL	(0.5) - KS			
-INSTALL 1	O SOFTWARE PACKETS (3.0) -	KS			
-TOP UP WA	SHER FLUID (0.25)					
AH128449		FILTER	HYDRAUL	1	140.04	140.04
	Hydraulic Filt	er				
AN207368		FILTER	HYDRAULI	1	185.32	185.32
	Hydraulic Filt	er				
AXE42066		FILTER	AIR DEBR	1	220.23	220.23
	DEBRIS MANAGEM	ENT OUT	ER			
DZ112918		FILTER	FUEL	1	224.39	224.39
DZ130550		Filter	Element	1	220.85	220.85
EF4663			FEE OIL	5	1.00	5.00
EF4664		RECYC	FEE OIL	6	.10	.60
EF4665		RECYC	FEE OIL	2	.40	.80
EF4666		RECYC	FEE OIL	2	2.00	4.00
HXE11090		FILTER	AIR	1	439.20	439.20
L214634		FILTER	CAB AIR	1	47.65	47.65
RE572785		FILTER	ENG OIL	1	144.04	144.04
TA32591	and the state of t	Air Fi	lter	1	115.79	115.79
TY26372		80W140	GL SYN 1L	2	56.74	113.48
TY26408		HD460	GL SYN	4	58.58	234.32
TY26673		15W40	PLUS 3.8	2	37.14	74.28
	Plus-50 II Oil	15W40	CK4/SN			
TY26679		15W40	PLUS 18.9	2	159.28	318.56
	Plus-50 II Oil	15W40	CJ4/SN			
TY6341		GREASE		1	11.96	11.96
	SD POLYUREA GR	EASE, 1	40Z: 397G			
11M7032		COTTER	PIN	1	1.55	1.55
					PARTS	2502.06
					LABOR	2231.25
				CONTIN	UED ON PAGE ()3

N: 4		
Signature:		



KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993

PROVOST P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278

WAINWRIGHT: 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	

Invoice To:

C016711

X0X 0X0 . AB

Branch					
CAMROSE					
Date	Time				Page
03/07/25	22:	20:05	(B)		03
Account No	Phone No			Inv N	lo
Ship Via		Purchase	Order		<u> </u>
Tax ID No					
			Sales	sperso	n
				137	

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

> S790 STS COMBINE 1668 1H0S790SVH0800045 08/02/19

S790 1218 2000

16001000 SEGMENT TOTAL ==> 4733.31

SEGMENT# 3 C 198

02/26/25 02/26/25

1000 HR SERVICE

4.00 HRS

CORRECTION:

Remove gear case drain plug, and transmission drain plug, Drain engine gear case oil and transmission oil, once gear case and transmission was drained fully, install drain plugs and fill gear case with oil till says full, run unit till stop light comes on due to low oil in gear case, shut unit down and top oil up, run unit again and check oil level, remove hydraulic tank filter, install new filter, tighten bolts down,

ADDITIONAL DESCRIPTION:

-CHANGE ENGINE GEAR CASE AND TRANSMISSION OIL (3.5) done BS

-REPLACE HYDRAULIC RESERVOIR FILTER (0.5) done BS

AR69444	HY-Gard 20L	2	147.72	295.44
AXE12964	FILTER HYDRAUL	1	168.82	168.82
	Hydraulic Filter			
EF4663	RECYC FEE OIL	1	1.00	1.00
EF4665	RECYC FEE OIL	1	.40	.40
EF4666	RECYC FEE OIL	2	2.00	4.00
TY22062	HY-GARD 10L	1	83.11	83.11
TY6354	HY-Gard 3.78L	1	35.03	35.03
			PARTS	587.80
			LABOR	700.00
	16001000	SEGMENT	TOTAL==>	1287.80

SEGMENT# 4 C 10 NA 02/26/25 03/07/25

615P PLATFORM

1.00 HRS CONTINUED ON PAGE 04

N: 4		
Signature:		



KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	
onip io.	

Invoice To:

. AB X0X 0X0

Branch					
CAMROSE					
Date	Time				Page
03/07/25	22:	20:05	(B)		04
Account No	Phone No			Inv N	10
Ship Via		Purchase	Order		
Tax ID No					
			Sales	sperso	n
				137	

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

C016711 S790 STS COMBINE 1668 1H0S790SVH0800045 08/02/19

S790 1218 2000

-ADJUST TABLE AUGER DRIVE CHAIN TENSION (0.5) - KS

-RE ADJUST TABLE AUGER STRIPPER SPACING (0.5) - KS

LABOR 175.00

16001000 SEGMENT TOTAL==> 175.00

SEGMENT# 5 C 10 NA 02/26/25 02/26/25

FEEDER HOUSE 17.50 HRS

- -REPLACE BACK SHAFT BEARING (2.5) KS
- -REPLACE 1 BENT FEEDER CHAIN SLAT (1.0) KS
- -REPLACE FEEDER CHAIN DRIVE CHAIN (1.0) KS
- --Adjust tension
- -REMOVE 4 HALF LINKS FROM FEEDER CHAIN (2.0) KS
- --Replace broken spring on RT side
- -- Readjust tension
- -STRAIGHTEN FEEDER HOUSE TOP DOOR (1.5) KS
- -REPLACE 8 FEED ACCELERATOR SUPPORTS (6.0) KS
- --Replace 9 bent bolts
- -LOOSEN TOP SPROCKETS AND MOVE TO LT (2.0) KS

-REPLACE 4 FEEDER CHAIN TOP WEAR STRIPS (1.5) - KS

- --Replace 16 setscrews
- --Replace clutch spacer
- Bearing With Ho AXE68018 1 412.24 412.24 Bearing With Housing AXE80368 Link Chain 1 247.83 247.83 HXE24328 SLAT FEEDER CHA 1 118.05 118.05 316.93 1267.72 HXE84113 4 Support HXE84114 Support 4 316.93 1267.72

 H137329
 LOCK NUT M12 C
 9
 2.92
 26.28

 H156580
 SET SCREW
 16
 5.70
 91.20

 H171960
 STRIP
 4
 32.85
 131.40

CONTINUED ON PAGE 05

Signature.	Signature:	
------------	------------	--



KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST:
P.O. Box 299
3403 57 Ave
Provost, AB T0B 3S0
Phone: 780-753-2278

WAINWRIGHT: 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Invoice To:

. AB X0X 0X0

Time				Page
22:	20:05	(B)		05
Phone No			Inv N	lo
	Purchase	Order		
		Sales	sperso	n
			137	
	22:	22:20:05 Phone No	22:20:05 (B) Phone No Purchase Order Sales	22:20:05 (B) Phone No Inv N

6.00 HRS

SERVICE INVOICE

STK#/FLEET#				HF	RS	PIN/EIN	WARR	ANTY DATE	HRS	
C016711	S790	STS	COMBINE	166	58	1H0S790SVH08	800045	08/02/19		
	S790)		121	L8				2000	
H219635				Space	er		1	101.43	101	.43
L215374				BOLT	121	MX35MM	6	6.37	38	3.22
		BOL	12MMX35MM	10.9						
14M7401				LOCK	run	M12 C	2	2.56	5	5.12
19023				Sprin	ng		1	45.37	45	5.37
								PARTS	3752	2.58
								LABOR	3062	2.50
		16	001000				SEGMENT	TOTAL==>	6815	80.

SEGMENT# 6 C 10

02/26/

02/26/25 02/26/25

RT SEPARATOR

-REPLACE RE-THRESHER DRIVE CHAIN (1.0) - KS

NA

- --Readjust chain tension
- -REMOVE HALF LINK FROM TAILINGS ELEVATOR CHAIN (0.5) KS
- --Readjust chain tension
- -REPLACE TAILINGS ELEVATOR CHAIN LOWER SPROCKET

KEY (1.5) - KS

-REPLACE CLEAN GRAIN ELEVATOR LOWER SPROCKET

KEY (1.5) - KS

- --Readjust chain tension
- -REPLACE ISO MOUNT FOR OVER SHOT BEATER GEAR

CASE (0.5) - KS

-REPLACE ENGINE ACCESSORY MOUNT BRACKET (1.0) - KS

-- Replace hardware

255.09 AXE54619 Roller Chain 1 255.09 HXE149943 Bracket 120.88 120.88 1 KK54762 M8 Lock Nut 2 .81 1.62 T41770 1 75.32 Isolator 75.32 11M7079 COTTER PIN .37 1.48 2 5.34 19M7866 8-20 MET 2.67 CONTINUED ON PAGE 06

Signature:



5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993

PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278

WAINWRIGHT: 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	

Invoice To:

X0X 0X0 . AB

Branch					
CAMROSE					
Date	Time				Page
03/07/25	22:	20:05	(B)		06
Account No	Phone No			Inv N	10
Ship Via		Purchase	Order		,
Tax ID No					
			Sales	sperso	n
				137	

SERVICE INVOICE

STK#/FLEET#		HRS P	PIN/EIN	WARR	ANTY DATE	HRS	
C016711	S790 STS COMBINE	1668 1	H0S790SVH0800	045	08/02/19		
	S790	1218				2000	
19M7868		8X30 FLAN	IGE	2	2.82	5.64	
					PARTS	465.37	
					LABOR	1050.00	
	16001000		S	EGMENT	TOTAL==>	1515.37	

SEGMENT# 7 C 10 LT SEPARATOR

NA

02/26/25 02/26/25

13.00 HRS

- -REPAIR DENTS IN UNLOADING AUGER TUBE (8.0) KS
- -- Remove tube and flighting from combine and disassemble
- -- Repair dents and touchup paint
- --Reassemble and reinstall
- -REPLACE UNLOADING AUGER DRIVE CHAIN (1.0) KS
- --Readjust chain tension
- (0.5)-REPAIR LEAK AT BOTTOM OF HYDRAULIC RESERVOIR
- --Replace clamp
- -REPLACE TENSIONER AND IDLER PULLEYS FOR DEBRIS BLOWER (1.0) - KS
- -REPLACE ANTI ROTATION STRAP FOR HEADER CLUTCH MODULE (0.5) - KS
- -REPLACE 4 MISSING LATCH PINS (0.5) KS
- -REPAIR LEAK AT UNLOADING AUGER ENGAGE

CYLINDER (1.5) - KS

-- Replace rod end fitting o-rings

Replace fod end	riceing o rings			
AH234924	Hose Clamp	1 N	23.87	23.87
AXE37647	Idler	1	281.54	281.54
AXE64513	Belt Tensioner	1	377.01	377.01
AXE79735	Roller Chain	1	476.68	476.68
н134773	STRAP	1	8.92	8.92
M72598	QUICK LOCK	4	4.55	18.20
M84309	PUSH NUT	2	3.04	6.08
		COMPT	MITED ON PACE	0.7



KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST:
P.O. Box 299
3403 57 Ave
Provost, AB T0B 3S0
Phone: 780-753-2278

WAINWRIGHT: 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Invoice To:

. AB X0X 0X0

Branch					
CAMROSE					
Date	Time				Page
03/07/25	22:	20:05	(B)		07
Account No	Phone No			Inv N	lo
Ship Via		Purchase	Order		
Tax ID No					
			Sales	sperso	n
				137	

SERVICE INVOICE

STK#/FLEET#		HRS	PIN/EIN	WARR	ANTY DATE	HRS	
C016711	S790 STS COMBINE	1668	1H0S790SVH	0800045	08/02/19		
	S790	1218				2000	
PEL01		PAINT E	EVIO LEVY	1	.10	.10	
R26448		O-RING		1	3.44	3.44	
TY25624		AG & TU	JRF GREEN	1	20.47	20.47	
	For Ag and Tu	ırf Equipm	nent 1989 and	d newer			
	Green Spray B	Paint					
Т77814		FF-4 O-	RING	1	3.30	3.30	
					PARTS	1219.61	
					LABOR	2275.00	
	16001000			SEGMENT	TOTAL==>	3494.61	

SEGMENT# 8 C 10

02/26/25 02/26/25

CHOPPER/SPREADER

14.50 HRS

- --Replace keys
- -STRAIGHTEN RT SAFETY HOOP (1.0) KS

NA

-UPGRADE HOOPS TO 4 BOLT MOUNTS (1.0) - KS

-CHECK SPREADER HUBS AND KEYS (6.0) - KS

- -REPLACE 44 CHOPPER ROTOR BLADES (3.5) JB
- --Replace locknuts
- -REPLACE 40 CHOPPER STATIONARY KNIVES (1.5) JB
- -REPLACE 1 PADDLE AND 3 FINGERS ON RT SPREADER

ROTOR	(1	5)	_	KS
KOIOK '	\ _ •	. J I		α_{J}

AXE37753	Paddle	1 N	160.88	160.88
HXE118760	LOCK NUT M10 C	23 S	3.01	69.23
HXE19099	ROD POWER CAST	3 N	66.78	200.34
HXE21494	Blade	1	126.57	126.57
Н215004	BLADE	39	12.89	502.71
KXE10255	Knife Kit	6	318.72	1912.32
N31537	Washer	2	10.19	20.38
R111382	WASHER	4 N	6.30	25.20
14M7396	LOCK NUT 8MM	2	2.53	5.06
		CONTIN	IUED ON PAGE	08

Signature:



KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993 PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278 **WAINWRIGHT:** 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

Ship To:	

Invoice To:

. AB X0X 0X0

Branch					
CAMROSE					
Date	Time				Page
03/07/25	22:	20:05	(B)		08
Account No	Phone No			Inv N	lo
Ship Via		Purchase	Order		
Tax ID No					
			Sales	sperso	n
				137	

SERVICE INVOICE

STK#/FLEET#		HRS	PIN/EIN	WARRA	NTY DATE	HRS
C016711 S790	STS COMBINE	1668	1H0S790SVH0	800045	08/02/19	
S790		1218				2000
19M8319		SCREW	8X50/FLAN	4	4.31	17.24
49M7061		Shaft	Key	2	2.05	4.10
					PARTS	3044.03
					LABOR	2537.50
	16001000			SEGMENT	TOTAL==>	5581.53
SEGMENT# 9 C 10	NA	02/26/	25 02/26/25			· · · · · · · · · · · · · · · · · · ·
SHOE					7.50 HR	S
-REPLACE 2 ADJUS'	TABLE FRONT PR	E CHAFF	ERS #2 AND			
#3 (3.0) - KS						
-REPLACE 5 LOUVE Straighten 3 b		ELEMENT	(4.5) - KS			
AXE48156		Grate		1	770.74	770.74
AXE48157		Grate		1	785.58	785.58
AXE79377		LOUVER		5 N	212.24	1061.20
TERE SHRIP SHREET					PARTS	2617.52
					LABOR	1312.50
	16001000			SEGMENT	TOTAL==>	3930.02
SEGMENT#10 C 10	NA	02/26/	25 02/26/25	<u> </u>	<u> </u>	
MISC		0=,=0,			3.50 HR	S
-INSTALL DEFLECT	OR ON LOADING	AUGER T	OΡ		3.30 1110	~
REARING (1 0) - 1		11001111 1	-			

BEARING (1.0) - KS

- --Replace bearing
- -HAVE CAB FIRE EXTINGUISHER RECHARGED (0.5)
- -- Cannot be recharged legally
- -REPLACE CAB DOOR OUTER HANDLE (2.0) KS

--Replace plastic rivets for inner cover
AL204670 Handle
HXE127153 Deflector

1 N 184.34 1 65.55 184.34 65.55

CONTINUED ON PAGE 09

Signature:	



KILLAM: 5907 51st Ave Killam, AB T0B 2L0 Phone: 780-385-3993

PROVOST: P.O. Box 299 3403 57 Ave Provost, AB T0B 3S0 Phone: 780-753-2278

WAINWRIGHT: 1601 - 23 Street Wainwright, AB T9W 1L2 Phone: 780-842-2171

HE ANNUAL TOOL AND	\/ / · · · · · ·		2
	<u> </u>	ALC	Ž
\ INTE'L	ESTANDER IN	7 35 LTI	æ

Ship To:	

Invoice To:

X0X 0X0 . AB

Branch					
CAMROSE					
Date	Time				Page
03/07/25	22:	20:05	(B)		09
Account No	Phone No			Inv N	10
Ship Via		Purchase	Order		,
Tax ID No					
			Sales	sperso	n
				137	

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS 1H0S790SVH0800045 C016711 S790 STS COMBINE 1668 08/02/19 S790 1218 2000 3 N HXE132357 Rivet 1.07 3.21 JD10384 BRG/ELV/TAIL/98 1 76.34 76.34 PARTS 329.44 612.50 LABOR 16001000 SEGMENT TOTAL ==> 941.94

SEGMENT#11 C 10 NA 02/26/25 03/07/25

RUN AND CHECK

RUN AND CHECK - KS

Post-inspection and repairs

- -Run and check OK
- -Reinstall shields

16001000

T.ABOR 350.00 SEGMENT TOTAL ==> 350.00

2.00 HRS

WORK ORDER TOTALS CUSTOMER INTERNAL PARTS 14518.41 16301.25 LABOR SERV ACCESORIES 100.00

INTERNAL TOTAL 30919.66

N: 4		
Signature:		